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= 42,500
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== 16,500
= 38,500
401 AlEHIZL £ 0HY| 212,000 212,000
= 157,000
== 16,500
= 38,500
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212,000,000 » 1Al 212,000
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& 16,500
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01 At 2t 2l 20,500 20,500 0
OAsFHE ERFE Sl 1,500
OA=sHE NEHH 22 10,000
OMME s s 29 9,000
02 2324l 25,000 25,000 0
OFAsHE N& 29 5,000
OMME IH=sdessd 24 20,000
301 LPEXZ 75,000 75,000 0
12 JE24d =3 75,000 75,000 0
OF=se ZHXNAS 1,000,000& *75= It 75,000
307 21201 A 43,000 73,000 230,000
02 IAHFAAHEX 3,000 3,000 0
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03 BIAHNHE2IHIEE 40,000 70,000 A 30,000
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401 AIEHI L 2CHYI 80,000 615,000 A 535,000
01 A& HI 80,000 615,000 A 535,000
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402 2I2H X201 M 400,000 400,000 0
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10,000,000& * 20 200,000
OFe7Yy A= U +2 Ny
5,000,000& = 409H 200,000
SNUSERIUXN (SANUSERA KNAALY) 231,000 230,000 1,000
= 115,500
< 34,650
[ia 80,850
307 21201 A 181,000 230,000 A 49,000
= 90,500
< 27,150
s 63,350
02 It S AIHE L 181,000 230,000 A 49,000
OFHsHE FX XA 181,000
= 90,500
= 27,150
e 63,350
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< 25,000
s 25,000
02 QI2ZtE M AMHEE 50,000 0 50,000
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